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di d2 11 12 s1 s2
0,14 -6 = = 2ART501BRN 2ART501GRN 0,70 1,6 10 6 0,15 0,25 500
26 KOPUYHEBbIN cepblii
0,14 -8 = = 2ART501BRL 2ART501GRL 0,70 1,6 12 8 0,15 0,25 500
0,25-6 = = duroneTosbIit 2ART501NP rony6on 2ART501INB 0,75 1,8 10 6 0,15 0,25 500
0,25 -6 = = duroneTosbIi 2ART501NCP = = 0,75 1,8 10 6 0,15 0,25 100
0,25-6 24 = = XKenTblii 2ART501YN = = 0,75 1,8 10 6 0,15 0,25 500
0,25-8 — - duoneToBbIi 2ART501 rony6ou 2ART501LB 0,75 1,8 12 8 0,15 0,25 500
0,25 -8 = = XKenTblii 2ART501YL = = 0,75 1,8 12 8 0,15 0,25 500
0,34-6 - - pO30BbIl 2ART5013NR 61pto30BbIN 2ART5013NT 0,8 2 10 6 0,15 0,25 500
0,34 -6 = = pO30BbIN 2ART5013NCR = = 0,8 2 10 6 0,15 0,25 100
0,34 -6 = = canaToBbli 2ART5013TUN = = 0,8 2 10 6 0,15 0,25 500
0,34-6 22 = = KeNThli 2ART5013YN = = 0,8 2 10 6 0,15 0,25 500
0,34 -8 = = pO30BbIl 2ART5013LR 61pLo30BbIN 2ART5013LT 0,8 2 12 8 0,15 0,25 500
0,34 -8 = = canaToBbli 2ART5013TUL = = 0,8 2 12 8 0,15 0,25 500
0,34 -8 = = KeNTbli 2ART5013YL = = 0,8 2 12 8 0,15 0,25 500
0,50 - 6 6enblii 2ART502KW 6enbiii 2ART502KW OpaHXeBblii 2ART502KO 1 2,6 12 6 0,15 0,25 500
0,50 -8 . 6enbiii 2ART502 6enbii 2ART502 opaHxeBbli  2ART502KCO 1 2,6 14 8 0,15 0,25 500
0,50 - 8 6enbiii 2ART502NCW 6enblii 2ART502NCW = = 1 2,6 14 8 0,15 0,25 100
0,50 - 10 6enbi 2ART502HLW 6enbii 2ART502HLW OopaHXeBbli 2ART502HLO 1 2,6 16 10 0,15 0,25 500
0,75-6 cepblit 2ART503KG rony6oi 2ART503KB 6enblit 2ART503NG 1,2 2,8 12 6 0,15 0,25 500
0,75 -8 cepblit 2ART503 rony6oin 2ART503NB 6enbii 2ART503NW 1,2 2,8 14 8 0,15 0,25 500
0,75-8 - = = rony6oi 2ART503NCB = = 1,2 2,8 14 8 0,15 0,25 100
0,75 - 9 cepblit = rony6on = 6enbii = 1,2 2,8 15 9 0,15 0,25 500
0,75 - 10 cepblit 2ART503HLG rony6oi 2ART503HLB 6enblit 2ART503HLW 1,2 2,8 16 10 0,15 0,25 500
0,75 -12 cepblii = rony6oin 2ART503LB 6enbii 2ART503LW 1,2 2,8 18 12 0,15 0,25 500
1,00 -6 KpacHbIii 2ART504KR KpacHbIii 2ART504KR XKenTbli 2ART504KY 1,4 3 12 6 0,15 0,25 500
1,00 -8 KpacHblIi 2ART504 KpacHbIii 2ART504 XKENTbIN 2ART504NY 1,4 3 14 8 0,15 0,25 500
1,00 -8 18 = = KpacHbI 2ART504NCR = = 1,4 3 14 8 0,15 0,25 100
1,00 -10 KpacHblIi 2ART504HLR KpacHbIii 2ART504HLR XKENTbIN 2ART504HLY 1,4 3 16 10 0,15 0,25 500
1,00 -12 KpacHbI 2ART504LR KpacHbI 2ART504LR XKeNTbIv 2ART504LY 1,4 3 18 12 0,15 0,25 500
1,5-6 YepHbIA 2ART505BLK YepHbI 2ART505BLK KpacHbli 2ART505RK 1,7 3,5 12 6 0,15 0,25 500
1,5 =& YepHbIit 2ART505 YepHbIin 2ART505 KpacHbI 2ART505NR il 7/ &5 14 8 0,15 0,25 500
1,5-8 - = = YepHbI 2ART505NCB = = 1,7 3,5 14 8 0,15 0,25 100
i, = il YepHbIi 2ART505HLB YepHbli 2ART505HLB KpacHbIii 2ART505HLR 1,7 8,5 16 10 0,15 0,25 500
1,5-12 YepHbIi 2ART505HLSB YepHbIn 2ART505HLSB KpacHbIii 2ART505HLSR 1,7 3,5 18 12 0,15 0,25 500
1,5-18 YepHbIit 2ART505LB YepHbIin 2ART505LB KpacHbI 2ART505LR 1,7 3,5 24 18 0,15 0,25 500
2,5-8 CUHUI 2ART506NB cepblit 2ART506NG CUHWI 2ART506NB 2,2 4,2 14 8 0,15 0,25 500
2,5-8 = = cepblit 2ART506NCG = = 2,2 4,2 14 8 0,15 0,25 100
2,5-10 14 CUHUI 2ART506 = = CUHWIA 2ART506 2,2 4,2 16 10 0,15 0,25 500
2,5-12 CUHUIA 2ART506HLB cepblii 2ART506HLG CUHUI 2ART506HLB 2,2 4,2 18 12 0,15 0,25 500
2,5-18 CUHUI 2ART506LB cepblit 2ART506LG CUHWIA 2ART506LB 2,2 4,2 24 18 0,15 0,25 500
4,0-10 cepblit 2ART507NG OpaHXeBbIi 2ART507NO cepblii 2ART507NG 2,8 4,8 17 10 0,2 0,3 500
4,0 - 10 = = OopaHXeBbli 2ART507NCO = = 2,8 4,8 17 10 0,2 0,3 100
4,0-12 12 cepblit 2ART507 OpaHXeBbIi 2ART507HLO cepbi 2ART507 2,8 4,8 20 12 0,2 0,3 500
4,0 - 18 cepblit 2ART507LG OpaHXeBblit 2ART507LO cepbliit 2ART507LG 2,8 4,8 26 18 0,2 0,3 500
6,0 - 12 KenTbli 2ART508NY 3eneHbli 2ART508NG YepHbIin 2ART508NB 3,5 6,3 20 12 0,2 0,3 100
6,0 - 14 10 KENTbIN 2ART508 = = = = 3,5 6,3 22 14 0,2 0,3 100
6,0 - 18 KeNTbIi 2ART508LY 3eneHbli 2ART508LG YepHbIn 2ART508LB 3,5 6,3 26 18 0,2 0,3 100
10 - 12 KpacHbli 2ART509NR KOPUYHEBbIN 2ART509NB 6exeBblin 2ART509NBE 4,5 7,6 22 12 0,2 0,4 100
10 - 14 8 KpacHbli 2ART509 = = = = 4,5 7,6 24 14 0,2 0,4 100
10 - 18 KpacHbli 2ART509LR KOPUYHEBbIN 2ART509LB 6exeBblin 2ART509LBE 4,5 7,6 28 18 0,2 0,4 100
16 - 12 CUHUI 2ART510NB 6exeBblii 2ART510NBE 3€eneHblin 2ART510NG 5,8 8,8 24 12 0,2 04 100
16 - 14 6 CUHUI 2ART510 = = = = 5,8 8,8 26 14 0,2 04 100
16 - 18 CUHUI 2ART510LB 6exeBblii 2ART510LBE 3€eneHblin 2ART510LG 5,8 8,8 28 18 0,2 04 100
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